Math 3
 







Name: _________________________

Mod 3, Day 7







Date: ______________ Period: _____

Name That Polynomial & Introduction to Complex Numbers
	1. Determine the polynomial function 
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.  Write your answers in factored form.
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	2.  Determine the zeros, degree and y-intercept for each polynomial function.  Graph the function on your own graph paper. 
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	3.  Factor completely across the rationals. (Be sure to factor any difference of squares.)
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	 4. Simplify the radicals.

	a) 
[image: image30.wmf]8

32

-



	b) 
[image: image31.wmf]3

5


	c) 
[image: image32.wmf]14

3

7

2

·


	d) 
[image: image33.wmf]3

54


	e) 
[image: image34.wmf]5

128




	5. Solve for x.
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	6. 100 grams of a radioactive substance decays 14% every day in a lab. When will there be 5 grams left?
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